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Example f(z) := 125z" — 2502 4 62127 — 4402 + 90 = 0 in (0, 1).

.1': -l!-l:lE
BD;
D:D 0.3 N
f(z) = 500z* — 75022 + 1242z — 440 = 0
£(0.4355---) =07, f(0.4355---) = 0.006---?.

Is this argument reliable 7



J—ITOFEE
EZEO N KRHEH f(X) 0| BRI%KS
f(x), f'(x), f @), -, f™(X)

DXIZHITHRHFELEREEV(X) EHL F(@) =0, F(b) =0 45(F,
X (a,b) I2H5+5 f(X) =0 DERDEHIL
v(a) —v(b) IZZLULvD, £HIEF N EYEBSTS(H 0N,




f(X):=—x"+4x>+16x"+20x-20=0
BFEﬁ (_310) ’
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J—ITOFEE
EZEO N KRHEH f(X) 0| BRI%KS
f(x), £'(x), f2x), -, f™(x)

DX IZEFEFELEIL#FV(X) EHLK (@) =0, T (b) =045,
X (a,b) [2H1+5 T (X) =0 DERDEEIE
v(a) —Vv(b) IZZELULD, E=EFNLYEBERSIT 7L,

Bl v(a)—v(b)=2
f(X) DERDOERIZ2 F1=120



J—ITOFEE
EZEHONIAER T (X) D

BRIRA

f(x), £'(x), £ (%), £ (x)

DXIZHBITBHFEEREZEV(X) EHL f(@) =0, f(b)=045(3,
X (a,b) [2H1+5 T (X) =0 DERDEEIE

v(a) —v(b) IZZ LD, - IEF N EYEBETS(H AL,

#l v(a)—v(b)=1
f(xX) DEBRDOESIT]
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IO

AYILLOTFE f(X):ER#0 n xs@Es. f(X)=0EERBIAL.
EHRHDONxRHER F(X) D] RVILLF
fo (%), 1,(x), £,(x),+ = 1,(X)
DXIZHITBFEEEHEV () EHL F(@) 20, f(b) 204350,
XfH(ab) 128175 F(X) =0 DERDEZKILV (a) -V (D)izZ Lo,




IO

AYILLDTFEE
E2FZHDONKAEX T (X) D| XVILLEF
fo (), (%), £,(x)," == T,(X)

DXIZEFEFELEILHEHEV (X)EHL (@) =0, f(b) #0451,

3 f(x): E2HEO N kBER. f(X)=0FERBIAL.

X (a,b) I2H1F5 F(X) =0 DEBDOEHIIV () -V (b)izZLL.

AYVILLF | T (X)E T (X)[2D20VTA—9YyRD ARG A% E A

=1L, RYDRIZ—ZDIF5
F(x)=0.(x) ' (x) | =| T,(x)
f,00 =0, £, = (%)
f, (%) = d;(x) £, ([ = £, (x)




f(X):=—x"+4x>+16x"+20x-20=0 )
=X (-3,0)

7

-20
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Example f(z) := 125z" — 2502 4 62127 — 4402 + 90 = 0 in (0, 1).

.1': -l!-l:lE
BD;
D:D 0.3 N
f(z) = 500z* — 75022 + 1242z — 440 = 0
£(0.4355---) =07, f(0.4355---) = 0.006---?.
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f(x) = 1252" — 2502° + 6212” — 440z + 90 = 0 fo(0) =90, f1(0) = ~440,  f>(0) = =35,

’ s en o o £2(0) = 96212720/250563,
() = 50023 — 75022 + 12422 — 440 = 0
£1(0) = 1620216988085 /762412161923344,

fo(l) =146, fi(1) =552, fao(l) =TT,
folz) = f(z), fi(z) = f'(z) fa(1) = —41560592/83521,

fa(1) = 4629216988985 /762412161923344.
fo(z) = (—867 2% 4+ 699 = — 140) /4,

Therefore we obtain

falz) = —(220894496x — 96212720) /250563, V(0)— V(1) =2—-2=0.
fd{I) _ 462021G0RRNCF /7ER 4101210090 44 Therefore, there exists no real root in (0, 1)
.

OAVR: J—)IHERAELSE, V(0)-V(1)=4-0 =4.
J—)IDFEETIE, 4@, 2@, of OL T hhEL ST ELMHMBEELN.



AVIVLDEE  #RELHL
RRBONRAEX (X) D[ RVILLE
fo (%), 1,(x), £,(x),+ = 1,(X)
DXIZHITBFEEEHEV () EHL F(@) 20, f(b) 204350,
XM (a,b) I2H+5 f(X) =0 DEBEDEHILV () -V (D)=L,




AYIVLDEHE  ERELGL # V(a)-V (b) =2
ERHBDONRARER f(X) D| XVILLE f (x) DERDEEE2

To(X), 1,(%), T5(X),- = 1, (%)
DX ([2EFHHELEAHEEY () Es<. (@) #0, f(b) 0 151,
XM(ab) 125135 f (X) = 0 DERDEHKIBY (2) -V ()= L L.




AVILLDFEE  ERzdin 5 V(a)-V (b) =2

ERHBDONRARER f(X) D| XVILLE f(x) DEIRDEEIE2

fo (X), £.(%), ()" -+ £,(X)
DX ZHITHFEEREHEV(X)EHL (@) =0, f(b) =075,
X[ (a,b) 128175 f(X) =0 DERDEEIIV () -V (b)izZ L.
J—)IDEHE

EHRYO N KA f(x) O FER
(), £, T2 (%), T (%)

DXIZHEFEHFSELHEV() &H< F(a)#0, T (0) 073,
Xfi(a,b) 128175 f (X) =0 DEBOMEHIT V(@) —v(D) IZZFLL A,

FREETNKYERIZTDLL,



AVYIVLDFEHE  ERELLL 1 V(a)-V(b) =2

ERHBDONRARER f(X) D| XVILLE f (x) DERDEEE2
fo (X), 1,(X), T,(%),= « +, T, (X)

DXIZBITE2FEEHEV (X)EHL (@) =0, f(b) 207451,

X (a,b) I2H1F5 F(X) =0 DEBDOEHIIV () -V (b)izZLL.

72— IDEE # v(a)-v(b) =2
551%7;&0) n ;kjj_i:nE;T;t f ()() 1)) ﬁ@;&gu f(X)O)?E*EO)ﬂE’;ﬂ(iZ ff:[io
f(x), f'(x), fP(x), -, fO(x)

DXIZHEFEHFSELHEV() &H< F(a)#0, T (0) 073,
Xfi(a,b) 128175 f (X) =0 DEBOMEHIT V(@) —v(D) IZZFLL A,

FrldETh KVIERZ T DL,



AVILLDFEE  ERzdin 5 V(a)-V (b) =2

ERHBDONRARER f(X) D| XVILLE f(x) DEIRDEEIE2

To(X), 1,(%), T5(X),- = 1, (%)
DX ([2EFHHELEAHEEY () Es<. (@) #0, f(b) 0 151,
XM(ab) 125135 f (X) = 0 DERDEHKIBY (2) -V ()= L L.

7= ITDOEE #1 v(a)-v(b)=1
FRHED N AR f(X) )| EBER5LEF f(x) DERDEZIE
f(x), f'(x), f@(x), -, (X

DXIZHEFEHFSELHEV() &H< F(a)#0, T (0) 073,
Xfi(a,b) 128175 f (X) =0 DEBOMEHIT V(@) —v(D) IZZFLL A,

FrldETh KVIERZ T DL,



AVILLDFEE  ERzdin 5 V(a)-V (b) =2

ERHBDONRARER f(X) D| XVILLE f(x) DEIRDEEIE2

To(X), 1,(%), T5(X),- = 1, (%)
DX ([2EFHHELEAHEEY () Es<. (@) #0, f(b) 0 151,
XM(ab) 125135 f (X) = 0 DERDEHKIBY (2) -V ()= L L.

J—)IDEE #1 v(a)-v(b)=1
FRHED N AR f(X) )| EBER5LEF f(x) DERDOEHIE]
f(x), f'(x), fP(x), -, fO(x)

DXIZHEFEHFSELHEV() &H< F(a)#0, T (0) 073,
Xfi(a,b) 128175 f (X) =0 DEBOMEHIT V(@) —v(D) IZZFLL A,

FrldETh KVIERZ T DL,






The Euclid Algorithm

Example. (42,24) =6

In fact,
12=1x24+18
24=1x18+6
18 =3 x 6.

Example. Let f(z) := 2! — 112 + 4422 — 76z + 48.. Then,
(f(z), f'(z)) =z —2
In fact,
fla) =2 — 112° + 4422 — 76z + 48.,
() == 4z® — 3322 + 88z — T6.
r 11 (x —2)(11z — 34)

0= (1-35) r@+ (25

116 '-

, [ o4d 139 (x—2)(11z —34)\ 128
f{"”"):m(_ﬁJrﬁ)'(_ )+1-21'[
(z-2)(1z—34) (113: 17

—x + 2)

16 -\ 16 8



Example. Let f(z):=z' — 182° + 1192% — 342z + 360. Then,
(f(z), f(z)) =1

In fact,

f(z) =2 — 1823 + 1192 — 3422 + 360. f'(z) := 42 — 5dx? + 238z — 342
9y 5o 45 09

f’{_-rj— _m_I+E —EIQ—FﬁI—% + _m_I+E
B 5 3 4 4 4 5 3

B M5 9 (%c 25 ( 16r 72} 0
4 4 4\ 64 128 ) D 16

) b




Example (The Euclid Algorithm)
flz) =2 +22 — 3z + 1, f(z) := 3z + 2z — 3.

fl@)=(3+3) =)+ (—Fr+3),
o= (G- ) () ()

Sturm sequence

flx) =23 4+22 —3x+ 1, fl(z) : =322 422z —3

f{riz(— 5) 7@ — —r——),

171 18
fi(=) = 100) (_I ~3) 35

A Sturm sequence for f(x) is defined by
{folz). filz). fa(z). fa(z)},

where
fo(x) = f(z), filz) = f'(x) =32 + 2z — 3,

20 4 18
folxr) = 5 * 3 falx) =




Define V'(x) by

V{(x) := number of sign changing of Sturm sequence for f(x).

Example f(z)=z*+2>—3z+1

fu(_I) — f{IL fl{l‘]' = 3% + 21 — 3, fﬂ[' ) = @I - g f:*.'['i‘-] - %
fo(~2) =3, fi(~2) =5, fa(~2) = —2=, fo(~ 2} -
_ 28 18
fol2) =7, fi2) =13, fa(2) = 9 fa{ 2) = 3E"
folfilfa|fa|V
r=—2|+|+|—|+]|2 V(-2)=2
r=2 |+ |+|+|+ |0 V(2) =0




Theorem (Strum) If f(x) = 0 does not have double roots and

fla) # 0. f(b) # 0, then the number N of real zeros in (a,b) 1s given by
N =V(a)— V(b).

Example P+ -3r+1=0 in(-2.2)
f(x) = 0 does not have double root, f(—2) =3 #£ 0, f(2) =7 # 0.

Therefore we obtain

N:=V(=2)—V(2)=2-0=2.

Remark flz) =23+ -3z +1=(22 42z - 1).(xz - 1)

Roots of f(z) =0are —1—+2, —1++2, 1.
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